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05 |
04 |
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0.2
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0000 COO CO000000000000000 DO0O000O00
O000OROTOO0O0O0000014007,=0.030a=0.5400)0a=0.52(00)
0 ROTOOOO0OO0OO0OOODDDO000070000000000000000000
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05 1
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0.4 - 04t ]
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T,=0.03,0=0.54 T,=0.03,0=0.52
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0 0.1 0.2 0.3 0.4 0 0.1 0.2 0.3 0.4
T T

0.9 ™
08 |
07/

014 Tp=00300007T000.000000000T=Ty000000.
0000 EO0O0OO0,0 FOOOOOD.O0OD0DO0D GUOOO),0 HOODOOO.

(0 E000)00DO0T<T,0000000000000000T<T,000000
OO0 FOOOOODODOODOROTOODOOODOODOODOODO EDODOODOODO ED
0000000000 RO «0OO0ODOOOQO branch 10 branch 20 branch 3000 O
000000000000 0000000 EO branch 10 branch20000 o« 000
ooo0b0oDOOooOooOOoboboooobL0 Tr'=17,000000000 40000000 E
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0GOO (RODOOD)0UDO0OODD HOODODODODOUDOODDOOT~T, 000000
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gogoboboooobobbooooobboooobobboooobobboooobbooog
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84 OU0O0OOODDOODO

00000000000 000000000 ATODO0ODOOO0DOOOOODODOOO0
000000000 RSOO0ODOOO0O0OOO0OO0OOODOOOO

RSOODODOOOD sgg000000ODOODOOTOOOOODOODODOOODOO
ggoboood

SRS = _a%fRS
S RIS+ 801 - g)
+/Dzln (2 cosh(ﬂz%—ﬁi)) . (23)

ATO0000000000000000000000000000000000 [17]
(DoDooo C)o

a3?

(1+5(1 -
0000000000 0ATODO0OD0000 sgg=00 A=00000000003

010000RSO0D0O00O0O0O0O0O Tp=02000(e,7)00DO0OO ATODOO
godoooooobooobooooooodn 15DDDDT0:O.05DDD(04,T)EI
0000000000000 00ATO0000000000000000000000
OD0O0O0OO0OATOOOOO0OO0OO0 ATODOODO0ODOO0ODOO0OO0O0OOO0ODOOOO0OO0OO0O0O0O0O0On
gooooooooooooooooooooon

0007,=0200000000 (0 1500)0000000RSOO0TO 0000
O0000 branch DD 0OOO0DATOODOO0OODOOOOO0OOOODOODOOODOOODO
goooooooooon oz:ozgl)20.65DDDDDDDDDDDDDDDDD 7300
DDDDDDOz<agl)DDDDDDDDDD@>0¢£1)DD ATOO0OO0O0000O00OO00
000000000000 (e, 7)OOO RSOODDOOOOOUOOO ATODOOOOOOO
gdooooouoobooboooooood agl)DDDDDDDDDDDDDDDDDD
0000000000000 0 0000 ATODODOO0O0ODDOO0OO0ODODOOOO0OO
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O0DO0ORSOO0DOO0OO0OO0 T7,=000 ATOO0ODODO0OO0ODOOODODOOODOOOO
(D 15DD)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

A

7 /Dz sech®(v/gz + R) —1 < 0. (24)
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015 0000000000000, ATO0O0000000000000000
Oo0Doooo. 0007y =0.2. 0007, =0.05.

a12(T) 0 ap3(T)0000000000000000000 eyo(7T)00000000
O00D0D0000ATODDODODOOO0OODOO0OOOODO0ODO0OODOO0OODOODOO0
branch 100000000 branch 20000000 s(7) 000000000000
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00000000007, =0.05000branch 20 ATOD0O000000000000
a=a0? =049000000000000T00000000branch 10 of? < a0
branch 200000000 0branch 30 ol > a0 branch 20 ATOOO0ODO00O
000000000

0 branch 00000 ATOOOOO0O000000000T,00000000000
00000000000007,000000000000000000000ATO00
0000 T=T,00000000as3(T),m(T)0000000000000000
0 Tanaka 00000000000 [5]0

00000000000000 ATO0000000000000000000000
000000000000000000000000«, T,0000000007000
00000000000000000000000007T00000000a0 7,00
000 ATO0000000000000007000000000000ATO000
0000000000 case I00000000000000000 case2000000
000

84.1 ATOOOODODODOO (casel)

000 caseDO0DOOO1IRSBOOODODOOOO

O0ase lO0D0O0D0OO00OO0O00O 1000 (One-step replica symmetry breaking,
IRSB) 0 0000000000000 firsg000000O00ODOODOOO (DOOO
0 D)O

A A ~ 1
_ﬁflRSB(q17q1aq07q07R7 Ramaﬁaﬁ(ba) =« (—5111 (1 +ﬁ(1 - Q1))

1 14 qo— 2R+ 35" _
- ( 2 )_ﬁ( qo BO )+§(1+ﬁ01)>
2m 1+08(1—q1) 2¢ 2
Q1 1 1—m m ~
L | - — — 2
5 T I+ ——0n— 5 doq — RER, (25)
1 A~
g = /ng/DtQm tanh?(\/qoz + V/d1 — Got + R), (26)
]_ ~
qo::/Ln{gi/Lnamamhﬁﬂ%z+4/@——%t+fuf, (27)
]_ ~
R:i/[hﬁi/[%QmUmhhﬂ%z+y@1—@¢+fD, (28)
N 2 q1 — 4o -
=« + qo, 29
D= A=) T 2
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. af(1 46y +q —2R)

qo = S02 ) (30)
R aﬁ
R=
o (31)
(1 — qo){1+B(1 —q1) + mBqp1}  « ln( © )
203 - 2m 1+ B(1—q)
——I+/Dz—/DtQm1nQ (32)

o =1+p3(1-q)+mB(q1 — qo),

I:/Dzan, K:/DtQm, Q = 2cosh(v/Goz +/q1 —(jot—l—R).

842 00D0UOUDUOOOO (case?2)

case 2000000000 OOOUOODOOO0DOOOODODOOOOKrauth-Mézard O
O0¢p—1,¢6—ococ00000 (180000000000 D0ODOODOOOODOODOOO
goobboooobbbooobbbooobobbuoooobobooouobboo

flRSB((h - ]-7qu - Ooaq()aCjOrRa Ra m, 67 ﬁ(ha) = fRS(q07m2(jOaR7 mR7 mﬁaﬁOaa)'
(33)

O00000D0ORSOO0DO0D0O0D0O00O00O sggs=0000000000000000
00000 ge, e, Re, R 0 3. 000000CO1IRSBOOOOOOOOOOO

1 B
qdo = {4c, qO m- QC7 R= RC7 R:m 1RC7 m:_c

3
m<100007T0000T<T. (0000 B>6.)00001RSBOOOOOOO

843 00DOOOOOO

000000000000 000000000000000000000000000
0000000000000 000000000000
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000 a0 a=a? 000007, =02000 1500000000 7000000
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00000000000 0000 16000 case lO00D0D0D (0 170000000
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00)00 16000 case 2000000 (0 17000000000)00RSODOOO
IRSBOODOOO ROTOOOOODOOOOOOO O16000RSOO0 ROODOO

) : : : : : 1 N : :
0=0.9, Ty=0.2 0=0.6, Tx=0.2
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R 06t 1 R o6 /\
0.4 r ] 04t ]
RS —— RS ——
L — ] Y —
02 L L L 02 L L L L
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03 | ] 03|
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0.1t ] 0.1
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00000000000000TOOO0O0OOD0O0OO0OD0O0D0D000000O0a =0.9(0
0)0Da=0600)0000000000000O0O0OO0OODOOOOOOOOOOOOO
RSO0 ROODODO IRSBOO ROOUOOOODOODOOODOO TOODOO RSOO1RSB
000 RO1000000001RSBOOOOOOOOcase 10case20 0000000
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0200000000000000 7T (T=0050017000000000)00000
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o

018 RO OOO.00:RSOOOO:IRSBOOOO: T=0.1,70 =0.200
0: T =0.05"Ty =0.20

00Ty =02, T=00000ca0 047T<a<1.1800 case 200 1.18 < a < 1.42
OO case 10 IRSBOOOOOODOOO ISO0D0DRUODO0De00O0D0O0OOOODOOO
000 1000001RSBOO RODOcase 10case 200 0000000RSOO0OOO
000000000 D0O0ORSOO 1IRSBOO ROODOODOOODOO

0007, 00000 (o, 7) 0000 RSOODODDOODODOODOODOOOOOOOO
To=0.05000a =055, 05, 04500 ROTOOOOODOOO 19000000
0000000000 TO000000000000 ATODODOOO0OOO0OO0OOO0D0OO0O00
0000000000 =050 a=05000branch 2000000000000
a=045000branch 20 ATODOOOO0OO00OO0ODO0ODODODODOOOOOOO
O000O0Obranch 200000000000 branchODOOOOOOOODODOODOO
000000ooDoooDooD0o0D0O000 branch 10 branch 300000000000
branch 10 branch 30000000« =0.55, 0.5, 0450000000 branch 1 00
0000000000 oOooo0oooooDoDooDoDO0da=0.55, 0.5, 04500 R
070000000 1IRSBOOORSOO branch 10 case 20 1RSBOODOOOODO
0000000020000 T =0.05, «=055000 (0 19000000000)0
0200000 Tp =0.05, «a=05000 (0D 19000000000)00 20000
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0.1 : 0.1 :
T,=0.05 T4=0.05
0.08 ] 0.08
0.06 | ] 0.06
0.04 | bhe ] 0.04
0.02 . v 1 0.02 [
0 : : 0 : : : N
035 04 045 05 055 06 065 035 04 045 05 055 06 065

019 T,=00000000000000000,ATOO00OOOODOOOOOO
O0000oooo0oo0.00: 000000 a=0.55,000000 a=0.5,0
0000000 ae=045. 00: 000DOO T=0.06, 000000 T = 0.05,
OoOoooooo T =0.04.

To=0.05, «=045000 (0 1900000000000)0 RSOOOO 1RSBOO
OO0 RO TOOOODOOOODOOODOOD 200 RSO0O0ODO 400000000

[ E———— 1 I ——
v 0=0.55, T(=0.05 ~—
0.8 0.8 0.8
0.6 0.6
R R /\ R
04 04 \
0.2 RS 0.2 RS 0.2 rs
. I — . 0=0.5, T,=0.05 = — . 0=0.45, T,=0.05 I —
0 005 01 015 02 025 03 0 005 01 015 02 025 03 0 005 01 015 02 025 03
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020 ROTOOO. Tp=0.05. OO:RSOO0O0O:IRSBOOOOOa = 0.55,
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000000000000 =04500000000000 40000 GOOODOO
oobooboooooT>o00l000O0O0obDOoOor<o00looooboobobobOoD
19000000000000000O0branch 20 branch 30000000000000O
OO00DT=7000000000000000000 GOOOODOOOoOooooo
0000000000 000RSO0O00O000DO0000O0000000a=0.550
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01900000a<04500 branch 30 ATOODODODO branch 100000000
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0000000000000 000branch 10 RSOODODOOODODODOOOOOOOOO

000 RSOODO0ODOO0OO0000 RO «OOODDOODOO21000 Tp=0.05, T =
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